EAGRAROBREERT — 2 N— IBISH —F

202188150 (H) 4m#R28

| 6f RS

EEE IR

[~E4] 1 7% :5,100,000 @ ~ 2 3% :2,000,000 @ ~ 33&:

1,300,000 § 4 & :770,000 @ 5 & :510,000 M

& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
3 | M. FA—-n 1:10.9 1-1 36.5|85.1| 3 442 | BIUER (EH)
N ESree ST~ s s Lo |EEiEE
R:g=/F¥LLy b B:7114KLZR FBEZX %Y K
_ R B ZHER 1. - . . BAEN (ERl)
» 15| 71 T — T — LK i 3 =0 1 (121) 3 9-9 36.0| 81.6 | 5 azg? %E*u%%
RL:boHFT—ILK Bik—)—T59> RS
> IR 4% 3 | AHES 1.3 2-2 36.8| 81.3 | 1 468 | FEE (EH)
3o YT~ 3 54.0 nF) G | ) 77 ks
LHYIRT4 IR B:TrpAbUT 55 Rikie
> . 3 | /lvekfist 1:11.4 2-2 36.8| 80.3 | 2 486 | REZE— (%)
+ B o | V-2t —X [B] i A51.0 (1/2) L 2
L:A—-KApFA7 B:740 -2 J—HTp— L
= # 3 | KEEE 1:11.7 5-5 36.9| 77.5 | 9 452 | BT (EH)
5/5/g9|71TY—717 [B] a51.0 @ ) | ) YGGH—2757
LANZ—kb1—X B:EH/ Frv=F> TRELDARS
= EHBAS : = EAIIESS IE 7))
6 1 ZTAILINT A~ % 3 Bl 171::? 2-2 37.2| 76.7 | 13 (4_2;) VEEE—
RNRIVTSY BELYLIYV Bl &
4% 3 | HDfAE 1:11.9 5-5 37.1| 75.7 | 6 488 | PEEZ (EH)
71814 H7z))— 54.0 (1 1/4) (o) | BN~
:7Avh7z B:Hh7175)N— =B SE
ft 3 | AxR 1:12.0 9-9 36.7 | 74.7 | 11 460 | NE—B (EH)
8111 T+ by F—4 50 7E) (+1g) | B) *vBv bIT7—4
R:ZvFx—TAIN B:T74ILTET/ (A) #HA3-KL—ra>aEr7r
L — i3 | ANFEIEA 1:12.0 7-7 371|747 | 7 426 | BEFEH (EH)
o3| vVL>=—% [B] 54.0 ) oy | W) A-FFx—2257
R:iRyIALT BixeHUL4T7Id> FATA 77— L
TS o o5 4 3 | BREA 1:12.1 1-1 36.5| 73.9 | 10 | 434 |BEERMME (X&)
1wl 71 77v7E>7 54.0 (7€) (=) | LB
L:hI/RI47T B:orrE-—OY IR
LEHER : — BEHL (EH)
M EESIN IE [B) it 3 ok 11\3; 8-8 37.0| 73.8 | 8 ::33) iy
R:ZAv—hT7700> BTATLRXTIA L ¥ 3% & A ERBS
R 4 3 | ERMAR 1:12.4 13-13 [ 35.7| 71.5 | 4 456 | FRIIAR ()
EH 4 V774> RK<F— 54.0 (1 1/2) “2) SIEERA
x40 B:ILYRU—vF— HBET7—L
- = 3 | EHERtET 1:12.8 12-12 | 37.0| 67.3 | 12 | 404 |TIRIEFE (EiH)
131713/ V77Fa7 e $52.0 2 1/2) () | EEERE
/G ZA N B =Z—FAH957F— HBE77— L
EEN :13. = . . IE—F (EH)
alslg| 7H5s vy i 3 S 1(163)8 14-14 | 36.7| 57.8 | 15 (432) i
R:2 kAT UE— BRFIVU-—> BF fE
5 4 3 | FPREKER 1:22.7 15-15 26| — 14 484 | PEEZ (EH)
EH 5 AZ2—T 2T 54.0 (%4 4%) (=) () ¥v0y hT7—L4
LiFNT =TI B:YaINbTTaY IR
@ 21 L
£ 48.0-36.5
NA>24 L | 12.0-10.9-11.5-12.5-11.7-12.3
® 1—F—@EBIERL
13—=7—
2a=5F=
§a=7r= 6(2,10,11)(9,14)3,12(1,15)7,13=4-8=5
40—+ — 6(2,10,11) (9,14)3,12(1,15)-7-13-4-8=5
[ N5
B OB 6 490M 714K 6-15 770M e 4-8 1,140/ JEE 6-10-15 2,770
# B 6 170 6-10 450 B = 6-15 2,310 3EE 6-15-10 14,330H
15 200H 10-15 500M B H 6-15 3,930M
10 1509

ARICOVWTRDTEEERROODE. TR LIV,




